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M HEIIED
M FHBEAE P
Chel: XL ESAME DI 25 (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
=0 ESAE 23| 463,107 441,055 22,052
| 324,175
Al 138,932
307 gl2tol & 463,107 441,055 22,052
J| 324,175
Al 138,932
10 M3 SXNANEHIS2IHEX 463,107 441,055 22,052
O8=Z=8Iaiit EsAE 24| 463,107
| 324,175
Al 138,932
SAEZLTHAN ESAE ==X MAHH S 8,948 13,522 N4, 574
| 8,948
301 LEAZ 8,948 13,522 N4, 574
| 8,948
01 MEIBZE 05z 8,948 13,522 AN4,574
Od=5IUlol it ESAIE Hl==A A8l S 8,948
J| 8,948
SEA0IcHA ESAE 128388 T2 17,000 14,950 2,050
| 11,900
Al 5,100
307 21201 A 17,000 14,950 2,050
| 11,900
Al 5,100
1A S XA E X 17,000 14,950 2,050
Od=ZZUA ESAAE M= )H 17,000
| 11,900
Al 5,100
dEZH0HA ESAE 2 2 2HEHl 2,000 2,000 0
| 1,400
Al 600
307 gl2tol & 2,000 2,000 0
J| 1,400
Al 600
11 ALS S RAEE = 2,000 2,000 0
O&=dIloHAt ESAIE 2=2H ¥ 2tEH] 2,000
| 1,400
Al 600
A=A ESAAE JIsE2AY 6,826 3,240 3,586
| 3,413
Al 3,413
402 RIZER20l ™ 6,826 3,240 3,586
| 3,413
Al 3,413
02 QI2t X2 AIL 2= (01X THE) 6,826 3,240 3,586
OdZHIIiA BE3AE JIsELAY 6,826




A=
AHBSAE P
ANMETSAIS DBt = (2 &HH)
- _ _ RE]
S EHE . (BH) - NEAY - BAS %Eﬁ HR=2
Pl 3,413
Al 3,413
SOHOHIIGH KF KIRAIE 29H| 550,647 538,580 12,067
J| 385,454
Al 165,193
307 2Iz2t0| A 550,647 538,580 12,067
J| 385,454
Al 165,193
10 MM SXANEEHESIGHEX 550,647 538,580 12,067
OXOHOHII o A KIS AIE 2HH| 550,647
J| 385,454
Al 165,193
SOHOHIIOH K K RAIAE XX A 68, 186 68, 186 0
J| 47,730
Al 20,456
307 giztol A 68, 186 68, 186 0
J| 47,730
Al 20,456
11T A EXAIEEX 68, 186 68, 186 0
OXOHOHIIGHAF KIEAIE R2EXSAS 68,186
J| 47,730
Al 20,456
SOHOHIIGH A KIRAIE JIsE2ZAIY 3,800 424,400 A 420,600
J| 1,900
Al 1,900
402 SI2vXHE0| ™ 3,800 424,400 AN 420,600
J| 1,900
Al 1,900
02 CIZtXIE A E X (0| XM THH) 3,800 424,400 A 420,600
OHSOHOHIGHAF XIRAIE JIsE2AY 3,800
J| 1,900
Al 1,900
Zd0o 0IFHAE ESAE 29X 189,219 157,952 31,267
J| 132,453
Al 56,766
307 2iz2to| A 189,219 157,952 31,267
J| 132,453
Al 56,766
10 MM SAANEEHESIGHEX 189,219 157,952 31,267
OZdIol OlIFE ESAE 29| 189,219
J| 132,453
Al 56,766
Z2T|oH O|F0HAE BESAE JIsELAY 19,900 5,500 14,400
J| 13,930
Al 5,970
402 12t XHE0| ™ 19,900 5,500 14,400
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M 8 EH
MY ANBSAE P
Chelt FHBSAE JlY S (B9 ®R)
SA-E B (3H) - MBAY - BES ﬁlf& HDS2
Jl 13,930
Al 5,970
02 DIZFXIE2AIE E X (0IETHE ) 19,900 5,500 14,400
OZdIol 0OlFTHE ESAE JIsE22A 19,900
Jl 13,930
Al 5,970
Z2ET|o 0|FTHAE ESAE E AR JEAE2 10,000 10,000 0
Jl 10,000
301 dEtE X = 10,000 10,000 0
Dl 10,000
01 Al B & X 26l 2 10,000 10,000 0
OZ&I0dl 0IF=0Hd ESAIE EAX INEHAS
= 10,000
J| 10,000
e ZSTNA KNAIE SXSEH| 180,110 99,455 80,655
Al 180,110
307 212t0| & 180,110 99,455 80,655
Al 180,110
10 AIRIEXAIEEE2IGHIEX 180,110 99,455 80,655
OdZHTal X XNJAE SXNSE 180,110
Al 180,110
HEAE =X MHAH= 147,000 180,456 N 33,456
= 132,300
Al 14,700
301 dBtEX =2 147,000 180,456 N 33,456
= 132,300
Al 14,700
01 MSIEEE 262 147,000 180,456 N 33,456
OWAANE =32X MAHAZA 147,000
= 132,300
Al 14,700
Ols - dtEXFHU 29 7,000 7,000 0
Al 3,500
- 3,500
201 et A | 4,300 5,000 A 700
Al 2,150
- 2,150
01 At 22l ] 4,300 5,000 AT700
O0ts - 8ot Xl &9 4,300
Al 2,150
- 2,150
301 dEtE X = 2,700 2,000 700
Al 1,350
- 1,350
12 JIEtE &2 2,700 2,000 700
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1,121,824
A 302,963
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6,980
3,980

3,000
1,600
1,600

2,000
2,000
2,000

40,615,986
4,884,649

Off &t 24

2,700
1,350
1,350
9,000

Al

7,400
4,400
3,000

1,400
3,000

600
2,400
1,600
1,600

1,600
2,000
2,000
2,000
2,000

41,737,810
21,932,027
1,335,367
15,312,227
3,158,189
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Al
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A 205,000
A 205,000
A 205,000

530,000
530,000
530,000
210,000
210,000
210,000

325,000
325,000
325,000
325,000
325,000
210,000
210,000
210,000

1,702,345
279,650
325,000
325,000

Il
Al
Al
Al
Al
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2N
X ZH -
L= B

el

A - HE B (3A) - HRAY - B Ol &t o San HmEET

O&L=oIS 210,000
— = WA 100,000& 600 60,000
- =MAH 200,000 *400H 80,000
— KOl & 700,000& x100H 70,000

EM2E KNS 100,000 115,000 A 15,000
Al 100,000

301 LeEBAF 100,000 115,000 A 15,000
Al 100,000

01 Mel28E 6= 100,000 115,000 A 15,000
OsdESE NE3 100,000
Al 100,000

S4EY MY 29 18,700 22,000 A 3,300

201 LB-2dH| 18,700 17,000 1,700

01 At 2t 2l 3,700 2,000 1,700
O=sdtE 222 MH S 1,500
OguE=XA X 150,000& 8 1,200
Y- ME RY MRS FX 1,000

03 A2 Z Hl 15,000 15,000 0
ONE2ANEIHE THE 15,000

S8 Yst=Es3 190,000 158,000 32,000
Al 190,000

301 LerEAF 190,000 158,000 32,000
Al 190,000

01 AR 2Z A5 3 190,000 158,000 32,000
Oxssuw dst=st3 190,000
Al 190,000

SHRR2IIE Ots2 =4l K& 1,462,321 1,131,890 330,431
J| 1,169,857
Al 292,464

301 LEHZ 1,462,321 1,131,890 330,431
Jl| 1,169,857
Al 292,464

01 Mel2EZE 406z 1,462,321 1,131,890 330,431
OSR2IIE ots2L=FH & XN 1,462,321
J| 1,169,857
Al 292,464

FAH RRIE Ots2d=EH S HEXNZ 32,250 23,711 8,539
J| 25,800
Al 6,450

301 LEPEAZ 32,250 23,711 8,539
J| 25,800
Al 6,450

01 MEIBEEE 2063 32,250 23,711 8,539
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2N
X ZH -
L= B

el

A - HE B (3A) - HRAY - B Ol &t o San HmEET

OFAY SER2IIE OISY=RH S NEXE 32,250
J| 25,800
Al 6,450

SIRRIIE tHWSs K& 136,295 163,400 A 27,105
Al 136,295

301 LEPEAZ 136,295 163,400 A27,105
Al 136,295

01 MEIBZE 263 136,295 163,400 A 27,105
Onsstd W=l 2,236
Al 2,236
O&FAHE wsEH, =S8 ss23H| 134,059
Al 134,059

SRNHE g F=AHAXEA 6,367 7,270 A 903
Al 6,367

301 LEXZ 6,367 7,270 A 903
Al 6,367

01 MEI2EZE 406z 6,367 7,270 A 903
OfXIE Ag =AHXNHA 6,367
Al 6,367

Mot 2208 N 2208 22 XA 6,000 7,000 A 1,000
Al 6,000

307 21201 A 6,000 7,000 A 1,000
Al 6,000

11T M3 SRASEEX 6,000 7,000 21,000
OMIt et223= X 2208 29 6,000
Al 6,000

otol=s K& 1,806,177 2,281,260 A475,083
= 1,264,324
Al 541,853

307 21201 A 1,806,177 2,281,260 A475,083
= 1,264,324
Al 541,853

11 ALS S XAEE = 1,806,177 2,281,260 AN475,083
O0t0lE=E NEAY 1,806,177
= 1,264,324
Al 541,853

OtOl==H Gt XI & 9,156 9,156 0
Al 9,156

307 glz2tol & 9,156 9,156 0
Al 9,156

11T M3 Z2XAISE EX 9,156 9,156 0
OotolssHotIl KA 9,156
Al 9,156

A2018 £ UR2SIEXNJAdH 29 203,800 203,800 0
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SN &R
_El'_ |

g 28 2 JE N&
o9l HE=X S CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

Jl 101,900
Al 50,950
T 50,950

307 i+l & 203,800 203,800 0
J| 101,900
Al 50,950
T 50,950

10 ALSISXAIEEE2EHEX 203,800 203,800 0
O22IE & U2sHEsXNJAEH 29 203,800
J| 101,900
Al 50,950
- 50,950

ZE0I2A SHAMHIA 30,050 0 30,050
J| 15,025
Al 15,025

307 21201 A 30,050 0 30,050
J| 15,025
Al 15,025

11T AR SXAIEE =X 30,050 0 30,050
OZE0I2A SHAMHIA 30,050
J| 15,025
Al 15,025

osniseEd &4 30,070 0 30,070
J| 15,035
Al 15,035

307 glz2tol & 30,070 0 30,070
J| 15,035
Al 15,035

11T M XA EX 30,070 0 30,070
oolsdNissd =4 30,070
J| 15,035
Al 15,035

ZE0I2 X A2 XA 15,500 0 15,500
J| 7,750
Al 7,750

307 glz2+ol & 15,500 0 15,500
J| 7,750
Al 7,750

11T MISXASEX 15,500 0 15,500
OZE0I2UA A2 XA 15,500
J| 7,750
Al 7,750

25 2 ogod X 37,156,124 35,731,337 1,424,787
= 20,667,703
Al 13,609,882
T 2,878,539
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AN GEIEY
Hu: 28 9 JIE X¥
Sl 28 Y 0R0E X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
2 A =& 3,700 3,700 0
201 £B-2d| 2,300 2,300 0
01 At 22l 2,300 2,300 0
OESAY ot A HM & 10,000& 1202 1,200
OMEAH HR2w=s WM M
10,000& 1002 1,000
OESYS 7 4% 100
203 ¥ S =&l 900 900 0
03 Al =AY R =&Y 900 900 0
OESASIR AI#HFA 1,000,000& *90% 900
301 LBEHZ 500 500 0
12JEEd= 500 500 0
O2SDHY N DS 500
EKUAHA A8 XA 4,877,989 4,468,326 409,663
= 2,926,794
Al 1,365,837
T 585,358
307 21201 A 4,877,989 4,468,326 409,663
= 2,926,794
Al 1,365,837
T 585,358
10 ALSISXAIEEE2GHEX 4,877,989 4,468,326 409,663
OEsuA@ A 4,877,989
= 2,926,794
Al 1,365,837
- 585,358
OElold 2IXNA(HOMHOIME HE0lE XSEF2HHl) 4,056 3,600 456
= 2,433
Al 1,136
2 487
307 21201 A 4,056 3,600 456
= 2,433
Al 1,136
2 487
10 AL SXNAIEEE2EH EX 4,056 3,600 456
Oo0lglold 28 X2 (HMHOHAEZ o2lolE &
2e) 4,056
= 2,433
Al 1,136
2 487
238 ol X& 850,305 846,287 4,018
= 510,183
Al 238,085
- 102,037
307 21201 A 850,305 846,287 4,018
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2N
X ZH -
L= B

el

O
CEN-I R L
25 L ORA0IY X

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
= 510,183
Al 238,085
T 102,037
10 ALSISXAIEEE2EH EX 850,305 846,287 4,018
OZ238 ooy X& 850,305
= 510,183
Al 238,085
- 102,037
ESQds F&AxY 3,900 2,730 1,170
201 et 3,900 2,730 1,170
01 AP 2teltl 3,900 2,730 1,170
O=%ads 3o A&
100,000& » 13X x33| 3,900
HEols 2SXNA(M0lE BIHWFH|) 43,838 46,097 A2,259
= 26,303
Al 12,275
T 5,260
307 21201 A 43,838 46,097 A2,259
= 26,303
Al 12,275
T 5,260
10 ALSISXAIEEE2GHEX 43,838 46,097 A2,259
O0elold 2L XA (E0E BMHwPHl) 43,838
= 26,303
Al 12,275
- 5,260
IHE L9 NEAY 4,502,734 4,381,867 120,867
= 3,377,051
Al 787,978
- 337,705
301 getEd 3 4,502,734 4,381,867 120,867
= 3,377,051
Al 787,978
- 337,705
01 MI2EZE 06z 4,502,734 4,381,867 120,867
ONtgLEs==2 X 4,502,734
= 3,377,051
Al 787,978
- 337,705
oelold ¢ - gyl K& 77,640 76,930 710
307 glz2+ol & 77,640 76,930 710
10 ALSISXAIEEE2EHEX 77,640 76,930 710
Oeold & - ety X & 77,640
R0z A& 15,388,905 15,242,831 146,074
= 11,541,679
Al 2,693,058
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SM: HEIED
Hu: 28 2 )5 X
oelr 8 U OfRI0IE Xd CER-D
e}
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

- 1,154,168

308 MUXIEMSO0IA 15,388,905 0 15,388,905
= 11,541,679
Al 2,693,058
- 1,154,168

M 3IN2SHUHSZEAHAE ALY 15,388,905 0 15,388,905
O02Hl B2 & XA 15,388,905
= 11,541,679
Al 2,693,058
- 1,154,168

EEuEIA MM XN (SL WA X&) 1,480,720 1,312,193 168,527
= 888,433
Al 414,602
- 177,685

307 2I2t0l A 1,480,720 1,312,193 168,527
= 888,433
Al 414,602
- 177,685

10 AL SXAEEE2IHES 1,480,720 1,312,193 168,527
OBSuXA H2MH XA (LA XIAd]) 1,480,720
= 888,433
Al 414,602
- 177,685

28 2LUHEY 22| 6,700 6,780 A80
= 3,350
Al 1,675
- 1,675

201 B2l 6,700 6,780 A80
= 3,350
Al 1,675
- 1,675

01 At 22|l 6,700 6,780 A 80
OR2 PLUHYEE 29H| 6,700
= 3,350
Al 1,675
- 1,675

AMZEHESAMHEIA MSKA 172,452 114,776 57,676
= 86,226
Al 43,113
- 43,113

307 QI2t0| ™ 172,452 114,776 57,676
= 86,226
Al 43,113
- 43,113

10 ALSISXAEEE2IHES 172,452 114,776 57,676
OANZHES HMBJI2 N 172,452
= 86,226
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M HEIIED
LRGP
Sel: 2% 2 OfR0IE X (S &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Al 43,113
T 43,113
ESWNAA HRMS XN (EZ WA o124dl) 2,031,751 1,361,323 670,428
= 1,219,051
Al 568,890
- 243,810
307 glz2tol & 2,031,751 1,361,323 670,428
= 1,219,051
Al 568,890
- 243,810
10 MBI SXNANEHIS2IHES 2,031,751 1,361,323 670,428
OBEuA HR2JME NI (EXZA 2124d]) 2,031,751
= 1,219,051
Al 568,890
- 243,810
Helod 2ed A M= X 98,901 86,100 12,801
307 21201 A 98,901 86,100 12,801
10 M SXNANEHE2IHE=x 98,901 86,100 12,801
Oogold g8d3 =S4 M=l 98,901
SI3~5AMI0 el d BEsE 5,702,060 5,773,066 271,006
Al 5,702,060
301 LENF 5,702,060 5,773,066 271,006
Al 5,702,060
01 MEIBEE 253 5,702,060 5,773,066 271,006
OBSt3~5M0t FelHdE 282 XA 5,702,060
Al 5,702,060
ragsz X 563,085 770,588 A 207,503
Al 563,085
308 XXM S0 A 563,085 0 563,085
Al 563,085
11 S 2 SOCHEE & X 2 E A HI 563,085 0 563,085
OFR0XNIAHE0E 200l MHHEEFZ X
2 563,085
Al 563,085
dEXNENHS0E 23l 10,800 9,000 1,800
Al 10,800
307 2201 A 10,800 9,000 1,800
Al 10,800
10 M2 SXNANEHE2IHEX 10,800 9,000 1,800
OFRXNANHEOE &2l 10,800
Al 10,800
ZUHEROIMHEO0IE ESWA E22H 25,200 25,200 0
Al 25,200
307 glz2tol & 25,200 25,200 0
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M HEIIED
LRGP
Sel: B8 2 A0Y X (ol @)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Al 25,200
10 M SXNANEEHE2IHE=x 25,200 25,200 0
OZMHEROIME0IE ESNA S22 25,200
Al 25,200
Helold d&sts 2 23 A 50,800 50,800 0
Al 50,800
307 21201 A 50,800 50,800 0
Al 50,800
1A S XA E X 50,800 50,800 0
O0eold &sts & St A 50,800
Al 50,800
238 a0l =c2/& olzdl X& 57,600 54,000 3,600
Al 57,600
307 gl2tol & 57,600 54,000 3,600
Al 57,600
10 M2 SXNANEHI2IHEXR 57,600 54,000 3,600
O3380eold =eld el 57,600
Al 57,600
BESWNA HRML (SR =) 780,000 757,850 22,150
Al 780,000
307 glz2tol & 780,000 757,850 22,150
Al 780,000
10 M ZXNANEHI2IHE=X 780,000 757,850 22,150
OESUAE MM (E2X=Y) 780,000
Al 780,000
OFZAEI0IE ZclAE 29 AL | 1,110 1,106 4
Al 1,110
307 21201 A 1,110 1,106 4
Al 1,110
10 M SXNANEHI2ZHEX 1,110 1,106 4
OO0t e old 22lA28 2% AL HI 1,110
Al 1,110
dR20XNFAHE0E EFUA HI25Y 54,030 43,000 11,030
Al 54,030
307 gl2tol & 54,030 43,000 11,030
Al 54,030
10 M3 SXNANEHIS2IHEX 54,030 43,000 11,030
OFROXNIHE0E EsNA EI25Y 54,030
Al 54,030
SEOUHEE &= 120,000 0 120,000
= 60,000
Al 30,000
T 30,000
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M 08I ED
Hu: 28 9 JIE X¥
©e: 28 2 oYY X CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 10,000 0 10,000
= 5,000
Al 2,500
- 2,500
11T AISIEXAIEEX 10,000 0 10,000
O M| 10,000
= 5,000
Al 2,500
5 2,500
401 Al HI L £ 0HHI 90,000 0 90,000
= 45,000
Al 22,500
- 22,500
01 Al& H| 90,000 0 90,000
OZ2g0oeold &x((212dd) 90,000
= 45,000
Al 22,500
- 22,500
402 BI2H X 20| M 20,000 0 20,000
= 10,000
Al 5,000
- 5,000
02 SIZEXIEAISE X (0| XM THL) 20,000 0 20,000
O I AH Bl 20,000
= 10,000
Al 5,000
- 5,000
Helold JseEd 30,000 50,604 N 20,604
= 15,000
Al 7,500
- 7,500
402 SI2FXHE0| & 30,000 50,604 N 20,604
= 15,000
Al 7,500
- 7,500
02 CIZEXIE A E X (0| M THS) 30,000 50,604 N 20,604
ONelold JIis22d W= 30,000
= 15,000
Al 7,500
- 7,500
HEXNENHE0E EKUAI EXNxE 16,097 18,000 A 1,903
Al 16,097
307 212t0| & 16,097 18,000 A 1,903
Al 16,097
10 M SXAEEHESIHEX 16,097 18,000 A 1,903
OFEXNE Helold Ex0A EX¢ 16,097
Al 16,097
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M 08I ED
LRGP
@2 BEx Y HEold K& (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
H20XNJ3He 0l X2l ol 90,000 66,000 24,000
Al 90,000
307 QI2t0| & 90,000 66,000 24,000
Al 90,000
10 Al SXAIEEE2IHIEX 90,000 66,000 24,000
OFRIXNINHES0IE xel@ 2AAHHl AL 90,000
Al 90,000
ZOHOIM 2012101 XH&FIIAF Q24| 3,600 0 3,600
Al 3,600
307 QI2t01 ™ 3,600 0 3,600
Al 3,600
10 AR SXAIEEE2IHIEX 3,600 0 3,600
OXOMOIM SO0l & XHEFIIAF 2124 H] 3,600
Al 3,600
22242 elez2dd 85,751 0 85,751
Al 85,751
401 AIEHIL 20| 85,751 0 85,751
Al 85,751
01 A& Hl 84,251 0 84,251
O2Z2H=F2 22 A 84,251
Al 84,251
02 Z2ldl 1,500 0 1,500
Ozl 1,500
Al 1,500
OIRIOIE BZA X KA 22,400 0 22,400
= 11,200
Al 5,600
- 5,600
402 Q12+t X220l & 22,400 0 22,400
= 11,200
Al 5,600
- 5,600
02 QIZEXI 2 A EX(0IETHS) 22,400 0 22,400
Ooelold 24 I XA 22,400
= 11,200
Al 5,600
- 5,600
Ols - #3449 el B 9,661,494 10,683,098 N 1,021,604
= 7,619,730
Al 1,416,754
- 625,010
Ols - 344 25 & &0 9,661,494 10,683,098 AN 1,021,604
= 7,619,730
Al 1,416,754
- 625,010
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DA E D
P 0ls - 3449 del B2
DOt - BAW 25 W CERED
= _ — d =
SN P SA(EN) - MBAY - BES e HlDE2
Ots+=E AE=29E 2,247 2,424 AT
= 1,573
Al 674
201 £B-2d| 2,247 2,424 ATT
= 1,573
Al 674
01 At 22/l 2,247 2,424 ATT
oots=+¢ 2,247
= 1,573
Al 674
CtEEH =3 Mg 148,920 81,540 67,380
= 74,460
Al 74,460
307 glz2+0l & 148,920 13,140 135,780
= 74,460
Al 74,460
05 Rzt E = 148,920 13,140 135,780
otgnssdey oA 148,920
2 74,460
Al 74,460
CHEM =& AL (& XIHl) 69,197 143,394 AT4,197
2 44,197
Al 25,000
401 AIEHIZL 20 50,000 105,000 A 55,000
= 25,000
Al 25,000
01 A& Bl 50,000 105,000 55,000
otgnss 50,000
= 25,000
Al 25,000
405 XHoHF S HI 19,197 38,394 A 19,197
= 19,197
01 ML EF 19,197 38,394 A 19,197
otgns 19,197
= 19,197
CIEH == M (29l 36,000 18,640 17,360
= 5,100
Al 5,100
- 25,800
201 et 2,000 8,740 A6,740
01 At 221l 2,000 8,740 A6,740
oXdss 29 &
000 *10H »23] 2,000
307 21201 A 34,000 7,900 26,100
= 5,100
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AN GEIEY
B ol - HAd Hel 28
& ots - 349 25 ¥ O (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Al 5,100
T 23,800
05 RIZHRI &3 34,000 7,900 26,100
OUEHN=SsSHH 22| 34,000
= 5,100
Al 5,100
- 23,800
FHAAHNS Ot 3 9,083,669 8,435,197 648,472
= 1,525,304
| 178,909
Al 7,066,120
- 313,336
KAAE Olse AXE A 3,734,973 3,101,735 633,238
= 1,036,176
| 64,854
Al 2,322,007
- 311,936
YAOIS IE NV (LFHY) 61,200 61,200 0
| 42,840
Al 18,360
301 LPEXZ 61,200 61,200 0
| 42,840
Al 18,360
01 A EE E 2563 61,200 61,200 0
Ogdots == XA 61,200
| 42,840
Al 18,360
YAOLE IIE KB (ZOHOIS LRAY) 20,248 20,248 0
J| 14,174
Al 6,074
301 EEM = 20,248 20,248 0
J| 14,174
Al 6,074
01 MEI2EZE 6= 20,248 20,248 0
OZMYLols dE=Y K& 20,248
| 14,174
Al 6,074
2 IEAEOs delxlz XA 4,800 5,300 A 500
= 3,360
Al 1,440
301 LEEAS 4,800 5,300 A 500
= 3,360
Al 1,440
01 MEIBEE 2063 4,800 5,300 A 500
Ogg - IHEEOs delxlg K& 4,800
= 3,360
Al 1,440

- 135 -




M 0{EIIED
HH: oS Ol B3
S KNS Ols2e HANE =4 (ct
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
I =dl= X2 3,000 3,000 0
Al 3,000
301 et ™M= 3,000 3,000 0
Al 3,000
01 MIIBEEE2G2 3,000 3,000 0
Ogsd=st2 XA 3,000
Al 3,000
Qekols JIE X (Ye=eid2t 2X NH) 2,100 2,100 0
Jl 1,470
Al 630
301 LEtE M= 2,100 2,100 0
Jl 1,470
Al 630
01 MIIEEAE G2 2,100 2,100 0
Oged=HD|2t DA K& 2,100
J| 1,470
Al 630
AlE IS X (YAH ) 9,100 9,100 0
J| 6,370
Al 2,730
307 212t0| & 9,100 9,100 0
Jl 6,370
Al 2,730
11 A EXNAEE X 9,100 9,100 0
ol XA 9,100
Dl 6,370
Al 2,730
Ho dist= OS24 K2 936,638 628,453 308, 185
Al 702,479
- 234,159
307 QI2t0| & 936,638 628,453 308, 185
Al 702,479
- 234,159
11 AMISXAEE X 936,638 628,453 308, 185
oY, gstxs ols2a XA 936,638
Al 702,479
- 234,159
E, B85Y ots=4XE 470,180 129,030 341,150
Al 470,180
307 QI2t01 ™ 470,180 129,030 341,150
Al 470,180
11 A SAAIEE X 470,180 129,030 341,150
OE, 282 ts24 XA 470,180
Al 470,180
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SN &R

B FHo)E O 25
9l XIALE OISO AFE T4 CER-ED
SA - BB B () - MM - BES Ol &t o San HmEET
OtssSA?d=E 1,400 980 420
201 £B-2d| 1,400 980 420
01 At 22l 1,400 980 420
OOESAAS 8o &ase
100,000 »7H »23| 1,400
IIELE OIS XA 89,910 63,000 26,910
Al 89,910
301 LB AF 89,910 63,000 26,910
Al 89,910
01 MI28E+06l= 89,910 63,000 26,910
OJtE e EOsXEA 89,910
Al 89,910
A2EAEHIE  INERIE AME0ts etsEa3 N3 42,000 42,000 0
Al 42,000
301 LEHZ 42,000 42,000 0
Al 42,000
01 Ml2EZE %06z 42,000 42,000 0
OAHAEIIE IS ANLOIE S22
X 42,000
Al 42,000
AEAEHINE N RIE AME0ts HEEERS N3 115,000 80,000 35,000
Al 115,000
301 LEM = 115,000 80,000 35,000
Al 115,000
01 Ml2ZHE 6= 115,000 80,000 35,000
OAEAUIE JIESIE ALOSE NSBED
X 115,000
Al 115,000
225505 UHE+E 169,200 158,400 10,800
=2 135,360
Al 33,840
301 LeHBAF 169,200 158,400 10,800
= 135,360
Al 33,840
01 Ml28E 6= 169,200 158,400 10,800
O2s&E20ts AHEg+E 169,200
= 135,360
Al 33,840
Ots 2 & X3 A = 224,570 224,570 0
= 157,199
Al 67,371
301 LEAZ 224,570 224,570 0
= 157,199
Al 67,371
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AN GEIEY
HE: HANUS OIS B35
@2 XA ots2 2HE |4 (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 MI2EZE+06l= 224,570 224,570 0
OUSMNASHEXH 224,570
= 157,199
Al 67,371
ANotsde 298 XA 933,000 929,640 3,360
= 466,500
Al 466,500
307 QI2+0 & 933,000 929,640 3,360
= 466,500
Al 466,500
10 ALSISXAIEEE2GHEX 933,000 929,640 3,360
OXYotsde 2<d XA 933,000
= 466,500
Al 466,500
SE+==28E NI 0tsdH =K 49,536 51,156 A 1,620
= 24,768
Al 24,768
307 21201 A 49,536 51,156 A 1,620
= 24,768
Al 24,768
10 ALl SXAIEEE2EH EX 49,536 51,156 A 1,620
sr=xy N 49,536
2 24,768
Al 24,768
EQ2Y XUOSHEH X 3,648 25,536 ~21,888
= 1,824
Al 1,824
307 2I2+0 & 3,648 25,536 ~21,888
2 1,824
Al 1,824
10 ALSISXAIEEE2EH EX 3,648 25,536 A21,888
OEe2Y & 3,648
= 1,824
Al 1,824
L4 NAOSHE X 34,698 34,698 0
2 17,349
Al 17,349
307 2I2+0 & 34,698 34,698 0
= 17,349
Al 17,349
10 ALSISXAIEEER2IHEX 34,698 34,698 0
Of=X4d0tsdH K& 34,698
= 17,349
Al 17,349
Ots=X WA OtAXA 206,532 206,532 0
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AR GRS =

B FHo)E O 25
S KNS Ols2e HANE =4 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San HDE2
= 98.316
Al 98,316
- 9,900
101 2121 4| 206,532 206,532 0
- 98,316
Al 98,316
- 9,900
04 JI12ZtH 22 XHEE 206,532 206,532 0
OOts=E X WA 1HHl X 196,632
= 98,316
Al 98,316
OO0l== XA EXZAE 300,000& *11H 3,300
OOSSXNDA SEHKB
300,000& 11 *23| 6,600
NE0otSHE SAX HRIMAH 97,350 85,600 11,750
Al 75,960
- 21,390
307 QI2t0| ™ 97,350 85,600 11,750
Al 75,960
- 21,390
10 Al SXAIEEE2IHIEX 97,350 85,600 11,750
OXNYotsHE AN HR2IMAb] 75,960
Al 75,960
OANEZR, M2 A MM 21,390
NEotsHE T2 03d X 32,640 31,800 840
Al 32,640
307 QI2t0| & 32,640 31,800 840
Al 32,640
10 Al SXAIEEE2IHIEX 32,640 31,800 840
OX<E0otsHdEH T )8 A& 32,640
Al 32,640
HE=8 XNE0tsdye 29 X 16,800 15,600 1,200
Al 16,800
307 212t0| & 16,800 15,600 1,200
Al 16,800
10 M SXNANEEHESIHEX 16,800 15,600 1,200
OME=EE8 XNY0tsdEH &9l 16,800
Al 16,800
XNE0otsHy Hutg 290 XA 5,220 4,750 470
Al 5,220
307 QI2t0| & 5,220 4,750 470
Al 5,220
10 M SXAAEEHESIGHEX 5,220 4,750 470
OXNYotsHE YWt 29d X 5,220
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AR GRS =

B FHo)E O 25
el XSAE Ots2 ANME sS4 (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
| Al 5,220
ELAMINE 2 K& 4,828 4,528 300
Al 4,828
201 £B-2d| 4,828 4,528 300
Al 4,828
02 3323l 4,828 4,528 300
OSHEIIHE 28H AA 4,828
Al 4,828
NEotsdE Hg MU 3,000 3,000 0
201 L2l 3,000 3,000 0
03 A2 Z Hl 3,000 3,000 0
OXgotsdE Hg Mss 3,000
ANEotsdHASZ 800 560 240
201 L2l 800 560 240
01 At 22l 800 560 240
OXgotsdHARAE 3o &
100,000 »8H x 13| 800
NGotsdEH AN SAEZAE XA 3,100 3,100 0
Al 3,100
307 2Iz2t0l A 3,100 3,100 0
Al 3,100
10 M SXNANEHI2IHE=S 3,100 3,100 0
OXGotsdH SALALH EXNZAE K& 3,100
Al 3,100
ANYotsdEH S XN (AE) 12,000 15,000 A 3,000
= 6,000
Al 6,000
201 Let24d] 12,000 15,000 23,000
= 6,000
Al 6,000
01 At 22l 12,000 15,000 A 3,000
OXYots4dE BIHFI XA (M)
25JH+40,000& x 1201 & 12,000
= 6,000
Al 6,000
FHANES OlsSSAMH A X 176,875 182,854 25,979
= 125,500
Al 15,688
- 35,687
201 et 152,135 152,614 A479
= 105,708
Al 13,214
- 33,213
01 AP 2teltl 141,673 142,152 AA479
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SN &R

M HAHES Ot BS
el KAIS OISO AME S4
SA BB O () - NRAY - HES 0l &+ o4 il

OLEARE T2 29 106,973
2 85,578
Al 10,698
- 10,697
OstsXd Z20d 293 20,000
OL=RALY AtAIE 28 S 1,500
= 1,200
Al 150
- 150
OEEAEE dH 29 2,000
= 1,600
Al 200
- 200
O EAERE A /E US| 2,500
= 2,000
Al 250
- 250
OEEAEEZERAE A 1,300
- 1,040
Al 130
- 130
OLEAEE 22 MHE 6,400
= 5,120
Al 640
- 640
OEHAERE SEZEANLE SR 2 1,000
- 800
Al 100
- 100

02 8322l 7,462 7,462
ORERI, MIIRE S 2323 5,462
= 4,370
Al 546
- 546
Oxtg KAl 2teldl 2,000
= 1,600
Al 200
- 200

03 A2 Z Hl 3,000 3,000
OCEYAEE 224 29 3,000
= 2,400
Al 300
- 300

202 odl 11,840 11,840
= 9,472
Al 1,184
- 1,184

01 = LH o4 1l 11,840 11,840
OEHAERE AR2us EZH0H 11,840
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AR GRS =

ZE: FHANE O 25
Sl XIHAE OO A S CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
= 9,472
Al 1,184
T 1,184
203 PR =&l 2,400 2,400 0
= 1,920
Al 240
- 240
03 Al =X H 2 =& 2,400 2,400 0
OEHAEE 2tE3l S AIMFAH| 2,400
= 1,920
Al 240
- 240
301 LPENF 8,000 8,000 0
= 6,400
Al 800
T 800
09 HALAHIX &S 3,000 3,000 0
OEEAERE Z208 FOHA Al 3,000
= 2,400
Al 300
- 300
12 JIEHE4 S 5,000 5,000 0
OLEEYAERE T2 2 Al 5,000
= 4,000
Al 500
- 500
405 TtabF S| 2,500 2,500 0
= 2,000
Al 250
- 250
01 AL EFH S 2,500 2,500 0
OMRE HIE ¥ 3FH ¢ 2,500
= 2,000
Al 250
T 250
OtsSt AL S33HALS 5,600 0 5,600
201 £B-2dH| 5,000 0 5,000
01 At 22l 1,800 0 1,800
OotssttHtHe Z2HAEAN s+
100,000%62] *3H 1,800
02 3322l 3,200 0 3,200
OO0tsstHEA M3 RAUI 2,200
OOtS St AL XHEHALE R FHI 1,000
307 gl2tol & 600 0 600
01 =L =4l 600 0 600
OOtsstthilohl ¥ 2A=H XNE S 600
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L ECEE
Ha: F o
Sl OS = XA

&2 2gxe (Ete: 8 2)
SA - BB B () - MM - BES Ol &t o San HmEET
Ots=SXAE 22X & 5,348,696 5,333,462 15,234
= 489,128
J| 114,055
Al 4,744,113
- 1,400
HAZ0(0s) 533,333 533,333 0
= 480,000
Al 53,333
301 LEEd = 533,333 533,333 0
= 480,000
Al 53,333
01 Ml2ZE 6= 533,333 533,333 0
OO0tsSAIE MASH 533,333
= 480,000
Al 53,333
OtsSAIE2gHl & SAX 2] 4,368,026 4,368,026 0
Al 4,368,026
307 glz2+0ol & 4,368,026 4,368,026 0
Al 4,368,026
10 ALSISXAIEEE2EH EX 4,368,026 4,368,026 0
OO0tsSXAIE 2gHl & SAXI AL 4,368,026
Al 4,368,026
OtsAl4 AlHIXI& 101,000 101,000 0
Al 101,000
307 21201 A 101,000 101,000 0
Al 101,000
11T M3 SXAISEEX 101,000 101,000 0
OAIE0ts =St &l 3,000
Al 3,000
OZO0tAIE JIMA 2,000
Al 2,000
OAl&0ts wsHl XI& 32,000
Al 32,000
OAIE0tE oA ==&bl 6,000
Al 6,000
OAld0ts 8= 40,000
Al 40,000
Osts2 x| 14,000
Al 14,000
OdeldMXI =l 4,000
Al 4,000
2ES0ts 088 24 86,643 86,250 393
J| 34,657
Al 51,986
307 21201 A 86,643 86,250 393
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M 8 EH
B FHo)E O 25
e OISSXAIE 29X (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Jl 34,657
Al 51,986
10 Al SEXAIEEE2IHIBX 86,643 86,250 393
OZ2=sMEIId(0OEE) 29X g 86,643
Jl 34,657
Al 51,986
SSHMEIIE SALN EXE 8,700 6,000 2,700
Al 8,700
307 212t0| & 8,700 6,000 2,700
Al 8,700
10 AIRIEXAIEEHAE2IGHIEX 8,700 6,000 2,700
OZ2SMEINAE SAX EXx=E X 8,400
Al 8,400
OZ2SMEINAE SAN EXNEAE XS 300
Al 300
S2SMEIIAE BE50tls XN 8,640 8,640 0
Al 8,640
307 212t0| & 8,640 8,640 0
Al 8,640
10 Al SEXAIEEE2IHIEX 8,640 8,640 0
OSsSMEINE BS0ts K& 8,640
Al 8,640
OFSAlE otdate| - SHHIHE K& 8,000 20,000 A 12,000
Al 8,000
307 212t0| & 8,000 20,000 A 12,000
Al 8,000
10 M SXNANEEHESIHEX 8,000 20,000 A 12,000
OOtsSAlE ot s HIfLH K& 8,000
Al 8,000
SSMEDIJIAE otd ZteldHl A& 900 900 0
Al 900
307 QI2t0| & 900 900 0
Al 900
10 Al SXAIEEE2IHIEX 900 900 0
O3SMEIE otd22Hl XA 900
Al 900
StfIloiotsa e 294l, 22Hl, AFH] 198,494 179,650 18,844
Dl 79,398
Al 119,096
307 212t0| & 198,494 179,650 18,844
Jl 79,398
Al 119,096
10 Al SEXAIZHE2IHIBEX 198,494 179,650 18,844
ostuoiotsayd 29 XA 198,494
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AN GEIEY
HE: HANUS OIS B35
&2 OsSEXAE 2SN (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Jl 79,398
Al 119,096
StIHOIoHOtsEE SAA EX==& 13,940 9,063 4,877
Al 13,940
307 gl2tol & 13,940 9,063 4,877
Al 13,940
10 AL SXNAIEEE2EH EX 13,940 9,063 4,877
OstimoliotsEE SML =X=E X 13,440
Al 13,440
OSttHLloHOts&E B SALA SXNZEE X2 500
Al 500
Stioloiotsed Ads4H K3 6,580 6,580 0
Al 6,580
307 21201 A 6,580 6,580 0
Al 6,580
10 M2 SXNANEHE2IHEX 6,580 6,580 0
OstthuloiotsdH AXd=s4H XA 6,580
Al 6,580
otsExNARs 2Y 1,400 980 420
201 ¢er24] 1,400 980 420
01 At 22l 1,400 980 420
O0ts=XaRs 3o 4
100,000 »7H »23| 1,400
FAHAEXNs0ts AHE XA 13,040 13,040 0
= 9,128
Al 3,912
307 2201 A 13,040 13,040 0
= 9,128
Al 3,912
10 AL SXNAIEEE2EHEX 13,040 13,040 0
OZAHHE Nsots NHEXA 13,040
= 9,128
Al 3,912
dad B5 9 4 330,126 243,692 86,434
= 34,138
J| 135,349
Al 78,424
T 82,215
dAad =X 330,126 243,692 86,434
= 34,138
J| 135,349
Al 78,424
T 82,215
HdAUES 10,860 10,190 670
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A O{EIIS D

Hm: HAW 25 U 84
ool aE =X EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 ¢er24| 10,860 10,190 670
01 At 22l 10,860 10,190 670
OFAEE &3 4,160
O Tdad=s4d23s, 383 sdsg
100,000 x9H 13| 900
O TANSANIELAESEXNIMA 22 A3 3],
oA 100,000 10X »23| 2,000
O TStDEALY XAEAsl, slABHALY
100,000& =14 *23| 2,800
OstW=EE g 22 HA 1,000
-89, M, E228 S
1,000& =1,000H 1,000
FAdRolEd ZAE N 3,000 3,000 0
= 1,500
Al 1,500
307 21201 A 3,000 3,000 0
= 1,500
Al 1,500
02 P SAMHEL 3,000 3,000 0
OFAERNSIZAE 2SN 3,000
= 1,500
Al 1,500
MEXH AZXNES 3424 SEEXE 8,971 8,000 971
J| 6,280
Al 2,691
301 LEdZ 8,792 7,800 992
J| 6,280
Al 2,512
01 MEI2EZE 406z 8,792 7,800 992
OMETH HLXNAS F2EUSENH 8,792
J| 6,280
Al 2,512
307 21201 A 179 200 A1
Al 179
11T MISXAISEEX 179 200 A1
Odela,dALNEs F2ESEXE Aol 2
| 179
Al 179
stn 8 HAad X2AY 125,993 83,716 42,277
J| 88,195
Al 18,899
- 18,899
307 21201 A 125,993 83,716 42,277
J| 88,195
Al 18,899
T 18,899
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AN GEIEY
Hm: HAW 25 U 84
ool Al =X EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
05 RIZHRI & 3 125,993 83,716 42,277
Ot &% a4 XNF AL 125,993
J| 88,195
Al 18,899
- 18,899
ELAEHENWARYS 29X & 2,800 2,800 0
J| 1,400
- 1,400
307 21201 A 2,800 2,800 0
J| 1,400
T 1,400
05 RIZt2IE = 2,800 2,800 0
OFAHENWRAS 29 2,800
Jl 1,400
- 1,400
AadE AZXNEAY 65,276 57,816 7,460
= 32,638
Al 16,319
- 16,319
301 LA F 65,276 57,816 7,460
= 32,638
Al 16,319
- 16,319
01 Ml2ZHE 6= 65,276 57,816 7,460
OFAE AL XA 65,276
= 32,638
Al 16,319
- 16,319
44 3 =BXNKANE 28 XA 70,000 54,170 15,830
J| 35,000
Al 35,000
307 glz2+ol & 70,000 54,170 15,830
J| 35,000
Al 35,000
10 ALSISXAIEEE2EH EX 70,000 54,170 15,830
O3AH ASXNEANE 28 XNE 70,000
J| 35,000
Al 35,000
FadE S280tY 29 N 10,000 10,000 0
307 21201 A 10,000 10,000 0
11T M3 SXAISEEX 10,000 10,000 0
O34 0=80ted 24 10,000
st 8 EA4Y gAld K& 8,948 0 8,948
J| 4,474
Al 2,237
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SN 8IS
XM HAH
e R PNE

L3
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2

- 2,237

307 BI2t0| & 8,948 0 8,948
bl 4,474
Al 2,237
- 2,237

05 QIZ2tRE 2 8,948 0 8,948
Osty g #3444 g&ad N 8,948
p 4,474
Al 2,237
- 2,237

st g HAE ZAH K (ABIANY) 1,578 0 1,578
Al 1,578

307 QI2t0| ™ 1,578 0 1,578
Al 1,578

05 QIZtREZ 1,578 0 1,578
Ostw g A4 ZAH K2 (ABIXH) 1,578
Al 1,578

HAaE S=SXNJAE SAMA SXNEAE 200 0 200
Al 200

307 2I2t0| & 200 0 200
Al 200

10 M SXNAEEHESIHEX 200 0 200
OFAYE J=2EXNSFANE SAIAN SAEQUE 200
Al 200

st g AW WEH X 22,500 0 22,500

307 2iz2to| A 22,500 0 22,500

11 MBI = TIA B 22,500 0 22,500
Ostw g A9 sy XA 22,500

HESAAH (HAEIIES W) 310,283 284,060 26,223
= 160,570
Al 32,622
- 117,091

ol 2 A Y| 242 /591 184,732 57,859
= 160,570
Al 32,622
- 49,399

leEsdEed 57,939 0 57,939
= 46,353
Al 5,793
- 5,793

101 2121 H] 57,939 0 57,939
= 46,353
Al 5,793
- 5,793

02 JIEtE 2 % 57,939 0 57,939
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AN GEIEY
= HE2GFU (WAL=
chel: ol 2y (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
OAZIEEH IH (OS2 2Y) 57,939
= 46,353
Al 5,793
T 5,793
HAHNE OlsSEMEIA XA 146,861 146,941 A 80
= 99,872
Al 12,484
- 34,505
101 14l 146,861 146,941 A 80
= 99,872
Al 12,484
T 34,505
03 RIAHAAZZRE > 146,861 146,941 A 80
OOts At 22l At D232 S(4%) 124,840
= 99,872
Al 12,484
T 12,484
OFMZANH S A+g 8,784
OZZZ Il 7,126
Otz ESF/IH=E 5,751
Otela 2 =X Mslz XNz 360
Ots=XI WAt OtA 37,791 37,791 0
= 14,345
Al 14,345
- 9,101
101 @124l 37,791 37,791 0
= 14,345
Al 14,345
- 9,101
03 RIHAZ 22+ 37,791 37,791 0
OOLS=EXWAH(KSGAS S XA 1Y) 12| 30,055
= 14,345
Al 14,345
T 1,365
O A A 130,000& =122 1,560
OitsEs=¢ 60,000& x12& 720
OZEFOHI 2,191,530& *80% 1,754
Oduan= 2,928,360 *36% 1,085
O¢xRESzII=E 11,3072 *8Al 2+ x 15 1,357
OLxZEHN=sUa XA 30
Ootetial X2 30,000 x23| 60
OX YA S XIAF &0 I
20,0003 *53| x 121 & 1,200
=3l 67,692 99,328 A 31,636
JI23l 67,692 99,328 A 31,636
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SA: GEIED
M NS (KIS

oo oo

Ee: I3 (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
201 Bt A | 21,132 18,728 2,404
01 At 22l bl 21,132 18,728 2,404
O=2AMEX 2! 20,000& x758F A 1,500
OEH & &8 2¢ 3,720
=== 132,000& *2CH x53] 1,320
-ZHOZEE EY 150, 000& *20H x4 A8 %2 3| 2,400
OEMSYII24+EH| 10,000& x24H x12& 2,880
OANZHAZ2 2L S A
8,000& x5 .54 x24H x 128 12,672
Otlzass 15,000 x2E5 «12& 360
202 04| 40,320 70,560 N 30,240
01 2LHHI 40,320 70,560 A 30,240
O2LH I 140,000& 24 x12& 40,320
203 ¥R =&H| 4,800 4,800 0
04 EANSHLRF=AH| 4,800 4,800 0
OBNMEY gR=&H| 4,800
—30Q10|oH(Z2 22 5HILSH) 400,000 *x12& 4,800
405 XHoHF SHI 1,440 5,240 A 3,800
01 AL SEH S| 1,440 5,240 A3,800
OAE oX wA ¢ 240,000 =64 1,440
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